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Geometry Chapter 1 Pre-Test

Find a pattern for the following sequences.
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Use the illustration to answer the following.

1.) What is the intersection of
planes P and Q?
iatusectum of 2 plames
ts a luae. Here i+ s
Pa
2.) List two pairs of collinear

points. AB, AC, B

Db, DA

3.) What is the minimum
requirement for a plane?
Include one from the
illustration.

3 nown u“c/\.&ﬂf P°\:‘“’4"’

of .
e Pou&* M-A ~ LW

1 vioa coll




Use the illustration to answer the following.

1.) Name all of the segments parallel to EH.
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2.) Name all segments skew
to HG.
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Include proper arrow format for each of the following.

1.) Draw a line segment featuring points A and B.
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2.) Draw line CD.
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3.) Draw the ray XY.
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If AX = 57, find the value of each of the following.
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Find the measure of each of the following angles.
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Find the midpoint of each segment.
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Find the circumference of the circle in terms of .

Find the perimeter and area of a rectangle when: P“‘; malar © Ab + QL
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FiInd the perimeter and area for the following figure.
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Find the area of the circle in terms of m.

Aren= Aren A + Area B
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